JAIST Repository

https://dspace.jaist.ac.jp/

Title gobodoooooooboobobouooooo

Author(s) oo, 00

Citation

Issue Date 2001-03

Type Thesis or Dissertation

Text version aut hor

URL http://hdl.handle.net/ 10109/ 1478
Rights

Description Supervisor: oo 04, ooooooo o0

AIST

JAPAN
ADVANCED INSTITUTE OF
SCIENCE AND TECHNOLOGY

Japan Advanced Institute of Science and Technology



O 0o o o

Joooooooooooooogboogood

oooo OO 00 00

oooooo 0o oo o
oooo 0O 00000

oooo OO oOog

gogbbooogbobobdad
gogbobobooobobboooon

9r0o013 LU0 OO

200100 200

Copyright © 2001 by Youzou Imagawa



u o

gouogbgbuogbobgoboobboobuoobboooboobbuoobooon
OO0 Reynolds U0 OO0 ODOODOOOOODOODOOOOOOODOODOOOOOODO
gooboggoboobogo



gooo

gobooo

2.1
2.2
2.3

HPPOODO . . e
FHPODODO . . e e
OODO .

gboooboogn

3.1
3.2
3.3
3.4

Navier-StokesO O O OO0

4.1

4.2

OO000000000 ... e e e e e
4.1.1 0000 ..o
4.1.2 0000 ..o
4.1.3 0000000000 ... e s
Chapman-Enskog OO . . . . . .. ... . o
4.2.1 Navier-Stokes equation . . . . . . . . ... ...

gooo

5.1
5.2
5.3
5.4

I
UODODOOO .. e e
UODODO0O0 ..o
I 0

11
11

13
13
13
14
15
15
17



0.5 UODOOOOO . e 27

5.6 ODODOD .« oo e 29
5.7 OUODOOODO .o e 29
5.8 UDODOOOOODNO ..o e 30
5.9 UDODOOOOO .. e 32
6 UOO0O 33
6.1 200000000 .. 0o 33
6.2 2000000000 ... 0 oo 36
6.3 UUODODOOO ... o e 41
6.4 20000000000000 .+ ..o n e 45
6.5 200000000 ..o 50
7 000 53

i



[ 10

oy

gbouogbboggbobooboobogbobbooboobbooboobban
guobuodgboboogbooobobobbooobooobooooooboboon
gbobbuooogbbbuoooobbbooooobooo

gbuogobbooobuobbodbbouobboobbooobboobbod
gbobogobugobodbboboobobuogbobodboboooobboobobon
gbboogbbooobbboboobo3ggbbboobbboobbboobbao
gbobbooobobboboooobbobod

00000000 AMalevanetsD OO00000000000O0O0O0O0OO0OO (OO
(1)O0oOooOoOOoOoOoooooOoO0oooooooooOoooooooooooooooboo
gbugbobodbuodbboobuoboobbooobobobbuooboooban
gboboggbbogbooobbboobobuogoboosbbooobbooobboon
goobobooogn

gbhuboggbugboobboobbbuodbboobuooboogboobbod
gboogbobbooobugoboogbubooboobbodgbooboboobbon
gobooo

gbuogogboobbuoobbogbuoobbuoobobbooobboobbod
gboobogobobbuoobbuodgbbodbbobbuooobooboooboboon
gooobdag



] 2[]

oo

gboboogoobbooooobbuoooon

Oooooooobooood 10 BeolUOODODOODOOOOOOOOOOLOODODOO
OO0boobooobobooboboooooooo bt 1oboboooooboobooo
gbgugbogobobogbuoboobuoobboobbuogobooobbodoon
gboboggbboogudbooboooboooboobbbuobuooobooboon
OLGAOOOOOOODOOOODOODOOO0DOOoOOO0OO0bObOODbDOOoDbOODOO
gbobbuooogbbbuoooobbboooon

gbuogugobooggbuogboobuooobbobuooboboooooobbbon
gogooboboobbbbobbbbbobbbibbgdouuuououoooooon
gbobboooobbooouooobbboooobbbooobobbooooboboo
gbobogdgbugobuoobodboboboobuoobbuoboobbooboon
gbobbuooooobobuoooobboboooooooo

gbuogodbboobboogbuogboboobbuoobobobobboobbon
gbogbobodbboboobobooobbooboobbodobooboboobbon
gboboggbobogbuogbbodoobooobuoobbuoonooboobobooon
gbogbobodbuoobbuoobooobuoobobbboobooboboobbon
gbbbuoooobbbuoooobbbooobobbobuooobbo

2.1 HPPOOO

goggoobbobbobbobbbbobbobbbbboooooooooboood
Hardy, Pomeau, Pazzis 0000000000 HPPOOO DODODOOOOOO20



gboogobuogbbodgbboobooboobuoobbdoobuoogbouoooobobon
gbobbuooooooobbooogobbuoooobbboo

gbuogobboobbuogbbodbuobbobuoobbooboobboobbod
gboboguodbbogboogoboogobuobuoobobuooobuoobboobobon
gboogobodbbogobobodgbuoobbooobbodgbooobooboban
gogoobbobbbbbbbbbbbbobbbodooiooooooooooooon
obooboboobliboobobooboboobo4b0obooboboobong
obooobooob20b0b0b0b0b0o0bb0o0ob0oob0o0obDOo0bOo0un Bool O
gbbbuoooobbboooobbbooobbbobuooobbo

gbuogobuogbobubbuoobbuoobobobobboobobbobbabood
O00OnodeD OO0 0O0O0O0OO0OODOODOODOOODODOOODODOD2000000000
gboboggbd2o0dboogbo20gbbogobomogooogbboonoon
gboobobuogbodgboooboouobbuoobbodobbooboooboon
gboboggbogbobuogobobbuoobbobuoobbuoobobuoooobooon
gobogobobboobbooobuogbbuoobooobboobuobbooboon
gbogbobuodgbbodoobuoobobboooboobbuobuoobboobobon
goboo

O 21: HPPODODODOOOOOODO

gbuogobodbbooobobodgbbooboobbuoobbogoboobuobon
0000200 1/2000000000000000000000000000000O00



gobbooogbbobuooooobobbuoooubobo2000doboobuoogod
OO0000000000000000000000000Navier-StokesODODOODOODO
gbogbobuodgbbodbooboboobbuodobooobuoobobuobobbbon
gbobbuoogooobbuoooobbobboooooooo

2.2 FHPUOOO

HPPOOODODOOOOOODOOODOOOUODLDODOODOODDOOD OFrish, Haslacher,
Pomeau O OO OODOO0ODOOODODOO0ODOOODOOOOODODODOOOOOFHPO
gbbboggbboogbbo20bugobbbooobbooob1boogooobogao
gbooogboboooobuoogbbooboobbooobbuooobbooooboobgnt
gbobouoobbboooobobbbboooobboooobbbuooobobobog
oboooboboobooboobobbobooboobobooboobo gpPOnO
gobooodg

oooooo ooooo oooooo

0 22 FHPOOODOO

2.3 OO0

gbouogbboboobuodbboobuooobbooboobbooboobboan
gbobobuoogon



oopoooooo goooooooo

U 23 0000000000

ooodo r, 00000000000, 0000 oooooooo0ooono N; O
ood
Ni(t*ar*) =< nz’(t*ar*)>

goooooopooogoooooooouoooooooguooo
p(te,rs) =D Ni(t,,r,)
:

j(t*; I‘*) = Z Ci(t*; I‘*)

i
goobdad
goboboooobobboogooobuoooooboboooooooo

it )
p(te; 1)

u(t,,r,) =

gbogbobodoobuoobooobuobboobuooobuoobboboobbon
000000000000000000 (uw,v)0OOOODODODODODODODODOOOOOOO
googobboogbugbbodgbuoobbuoobooobuoooobooboban
goboboggogobood



1 304

Juooodun

gouogbbooboobgoboobbooboooobooboooboobbad
gbobbuooggbbbooobobbbogobboboooobobobooooobooo
gbbbouooogbbbouooobbbouooon

OOoooooo
I
0oooo v

> goooboooood

oooo v
gooooooobod

'

goboogoo

'

goooopgoood

h 4
goooooooogo

'

oooooo

'

g3l 0bobgggboboogoboon



3.1 O0OO0OO0

gbuodbboobogbuogboobobbuooboobboobuoobbobbod
gbobogogoboogooobuoobobuoobbuoobboobboboobobooon
gboogobuogbbbooobuoguobuodgbbodboooooooboobobon
O00oooo0o0o0ooooo0ddwv; 0 viOOOooooooooooooooov
gbobbuoooobbbuooooboboooobbobuoou e g0

vi=V+o(v;—V)

00000000000 ¢ 00000 vOOOOO(viev)=00000000000
OO0O00000oOobOb0ob0o0b0oogbDD ReynoldsDODOODOOOOOooOooOO
0000002000000000000000000000 +x/20000000000



V2 V2

Vo*

3 .
(5) V+dV1* (6) Vl*

0 32:200000000000000000(@OOOOOOO)

.pbboodoobbobooobbbbud wubbogo

Looooobooboo voooo

.0oboo0boobooboobuoobobn dvy, 0O0ODO

.000ob0boboboboooooob eOOODODO

.000b0bobo dey 00000 VOODOO

.00gbdoo oy 00b0ao



3.2 0OOOO

000000000000000000000100000000000000000
0000000000000000000000000000000000000000
0oooo

0000 = (x,---,2p) (DOO0O0O0)0000000000 v = (vy,---,vp) OO
00000000 00000 [0 0000 {»}000000

v; = {vi} + [vi]

000000 & = (2, --,2,) 00000[0,1) 00000 & 0000

: {%4ﬂ%] (€ > {vi})

T 1 (€< )

gobobooooogn



--------------- e
)

[VX] {VX}

)

Vx -VE
o 11

U 33 2000000000000b0bD000

1. 00 vOOuooooobooooooo
2.viuoguobbbooodobbbooooo

. ubbuobobuogoboobbuoob2bu0bboooobobogbooboobon
gboboboodgoboood

4.300000000000000 abed0D00noobooobononOO

10



3.3 Ooon

Ofd0O000O0o00O0o00oo0oooo0oooooooooooooUooboooo
OO0O0O0O0O0OMaxwell-Boltzmann O O

f(v) = (1/(V2xT))" exp(||v]| /2T)

oodddb0booboboboobobboobobuobooobobobooobobo
OO0D0O0DO0b0ob0O0ooogn Maxwell-Boltzmann OO0 O O0OO0OOO0OOOO

3.4 OO0

goodd v d
1 1—e?
_ T p+ e
12 2(p—1+e77)

OOO0OOOOReynolds 0 Re UDOODOODO LOODODOO UDOODOO

14

(3.1)

Re = LU /v (3.2)

Jo0o0oooooooorTooodooobdp0ogbboooooooog
HEERN
O00o0000oo0ooooooooooooooooonood vy, O
1 1—e"*
Vmin = 7% T ¢

12 2(p—1+er)

(3.3)

gooo
Oo0o/l/0booboooboog p,0b0 p, 000000000000 DbOODOd
ooooodb NOODOooooboboooboooooo

u(l) = ﬁ:miCifs(l — &) (3.5)
(1) = Y gmilGlPai - &) (3.

i=1
G, O0uoubob«.boboboboobooobooboobobiobobnooooon
gboboboodoob my=1000000000

11



oboooooooboobooooboboobboobooboooboo NOOOoDbOo
200000
T:iiﬁé
N = 2
gobooogo
gboobod e 00

goboboodg
gbobouogoobobooogboo

p = pTiocal
00007, 000000000
godoudodoboooouoooooooouoooooooouoooogo
oo
k= pC,
goodouooooobobobbtbpbbbbbbbUobbln pdddd0 vooouo

= pv
000000000000CG, 00000000000000000000C, =500
00¢00000000000002000000¢=20000
000000000 <00
K=
ooooooo
O0000000000000000 00000 ReO0OO0OOOOOOOOOOO

3
Ra — % (3.7)
__gHAT
_ (3.8)

gooo

A OO0O0O0O
g : ooon
AT : 000

Ooboooboobo A bDOobOooooouooobobooboo10b00o

12



] 4[]

Navier-Stokes (1 [1 1 [ [0 [

gbouogbobuogbobogoboobbooboobbooobooooboobbad
0000000000000 000000000000000 (Navier-StokesO O 0O) O
OO00o0boo0o0oobo0ob0obo0boooobobobooDoob0obOd ReynoldsO OO
gbbboooobboooobbboogbbbodab

4.1 0OOO0O0OOOOO0OO

gbuogodbbogbbogbboog200bobooobbbobogbboobood
gbbbuooogbbbuoooobbboooobbboooobobbob

4.1.1 0000

gbuogbboobodgbooobuoobobbbooboobbooboobboan
gboobdgbbudboobd vOobuoouoooboobbuoobDbod v=),vie; U
00000000000 4w 0ODOODO00O0O0O0o0ooooooooooooooooo
O000O0On=>,;&(v)e,00000000000000O0O0OODOOOOOOOODOO
gbolgoboudgbbogbboobbuooobbobbbuoobobboobbbao
OOoooboboooooognD gooog

E(fz(vz)) = U;. (4-1)

oobooobooobooob gubobo .b00bo0obooboboobooboooo
gboboboooobobooan

13



{v}, n=[v|+1
P(E(v) =n) ={ 1—{v}, n=[v] (4.2)
0, else,
000 {v}0 [v|]0 »000000000000O0O0OCOOOOOOOOOO0O (4.1)
OD00000000D000D000D00d0oooDodde>00000

v =[v]+ {v}

gbobogbobodogoobbuoogobooba

() = (1 = {oD] + {v}(fo] + 1) =

Jdoobbbobbooooooogoooobobbbbuooooo
Boltzmann 000 0000O0O0ODO0O0OOODO0ODO0O0OODODO0ODOOOODOOODOOO
gooigogobobobdoo0 pOODOOO0ODLDDLDDOOOODDODUOOOLDDDOOOO
googg
SPi(l,v) = ZerPl(l—r v), (4.3)

00010 r0000000000W OO (42)000000000O0O0ODOODODODOO
goboggbobodbbuoobuogbobuoooobooobbboobbooon

o0

ZW r,v)exp[-r-V] = Z I;'J ® (=V) = exp [Z % ©) (—V)j] (4.4)

Jj=0 j=1
ODddbebO0000000000m; 0000000, D00O000000002000
O000000000000000000000000000000 f(t+1) =explo]f(t)O
000000000 f(r+)=[1-V]f(r) DOODODODODOOOOOOOVOODODDOO
0000 (44)00000000000000 (43)000000

8§ = exp 2:31 HJ]('V) o[-V} (4.5)

4.1.2 0000

gboboggbbbouogbboooobbooobobbooobbboobobboo
gbobogudgboogbugbobogbuoobobboobboobooobooboban
gobobodog bbbbdooobbboogoobboboooouoboooboboooon
gboogboboobbuoobobboobboboobbuoobobooboboon

14



googobbooobuogbbogbuoobbuoobooobuoobooobuobag
gobobuoogoobooggd:

vi=V +o(v;—V)

OO00Ov;, 0 viOOOOOOOOODOOOOODOODOOOOvVOOOooooooo
gogdobobbbodddd edgoguobbbboooogobbbboooo
gootdobbobbobooobbbobbboobboboboboooboogboboooogoa
00000000000000000000000 vooooooo (vieyv)=000
0000000000 {¢}000000000000Boltzmann 0000000000
O000000000000000 ReynoldsDOODOOODODOOODOOOODODOODOO
gooadd

O0000000 e0b0obDOoOobDOoOoboOoon

e(P)(v}) = ;ﬁ/da/---/lﬂldvia(vg ~Violv - V) IT A,

gbbdpbdoobbbuooobobbbuoogoboo

4.1.3 0O00O0O0OOOOODOO

OO0000O0Boltzmann OO OO O0OO10000000DO0O00ODO0O0ODOODOOODOO
gbobbooogon

exp[X] P, (L v, 1) = C(Py), (4.6)
XO0OODOoOoooooo
_ 0 = Kj(Vv) j

4.2 Chapman-Enskog![l []

gudbbgoboobbuoobbobooobobobbuoobbodobbooobon
OO000D0O0O0000 Chapman-Enskog OO0 O O0000O0O0O0OO0OO0OOOODOOODOODO
gobobooogoobbbibididx—exU t—=at 0000000 oooogon
b eggbbbooogogn

goddddodoudoooooouud prbbbbbbbboboboooogo
goo

fla,v,t) = f(v, p()) = 3" fulv, p(2))

n>0

15



gboboboogobbbooobboboogobobooon

plz) = (uf (z,v,1))
doooooooooooooooooooooon
(1% fu(z,0,t)) =0 (Vn > 0,Va)

0000.000 (343.6)0000000000000000000O00O0O0OOO0OO
gobobobobbuodgoooogbobobbood edggoooobboboooogo

Oo0oooooooon 5
EZZ&‘WI@”’

n>0
ced000oDo0oo0ooooooooooooooonoo
n>0

00 (e(f))0000000000000000000000 (C,(f))=0000000
ooooo
000 XO0O0O0OO0OO0O0OO0Oo

_ a - nH”('U) n
x—sa— € . Vv

=1

0(46) 0000000 000000000000 O0O0O0O0O0OOOOOODOOOO

C(f) = €(f)=0 (4.7)
Ci(f) = [Do—V-ri(v)lfo ) ' (4.8)
Co(f) = Difo—[Do+V-ki(v)]f1+ §[D0 — §V ki (V)P = V2 ke (v)fo  (4.9)

O0(2) 000000 MaxwelDOODOOOOO

[m ¢ o—ul?
— - e T 2T 41

v 0000000000000 000000000 D; 0000000000000 (4.8)
gobboogboogooooo

Dop® =V - (1%k1(v) fo) (4.11)

16



049 00000Euler0 0002000000000
Dy = SV (o) fo) — ([Do — Vs )]y + 5C()
gogad ) 1
Dip* = §V2 C (ke (V) fo) + V- (R (L + 561(f))> (4.12)

0000Gef) 0 € (f) 0000000000

4.2.1 Navier-Stokes equation

000000000000 (4749 00000000000000000000000O
gobbogobbbbobudoooooobbbbooooooobbobbbbood
0 (1) 00000000000 0000O000000000O0O0O0ODOO0O000O0O

0
=P+ Vipu; =0 4.13
FTE (4.13)
a *
57" + Vipuu; + VipT™* =0 (4.14)
d .1 3 . 1 5 .
o7 5Pl + ST ) + Vipus [ pllual* + S pT"] = 0 (4.15)

000 T*=T/mO0000000000000O000QOO pv,T*O000D0DODODDOOO
gobobuogggoboood

0
—p+ Vipu; =0
8tp+ pu
0 1
&u]' + uZVZuJ + ;VJpT* =0
0 2
=T +uwViT" + ;TViu; =0
5 +u;V +3 Viu

0 (4.13-4.15) O Laplace-Fourier 0 0 0 0000000000000 0OO0OOOOO0O
gobooo

17



0000000000000 2 =00 2z = |k gT*DDDDDDDDDDD(ZL.l?)—
415)000000000000000000OOOOOOOOOOOO0 T*p=2* 000
gbobobuoooobbobuooooboboboooobooouooonboon

c= §T*
3

00000000 (413415 00000000 (48) 000000000000 OOOO
gooo

dlo
&) = B~ Vi) +
9log(fo) 1 "
Tio[v]"l}jui — U,jVjU,Z' — ;Vsz ] +
alog(fo) * * 2 *
a7 Voo, T" —u;V,T 3T Viu;))

0 (4100000000 f,00O0O0O0O0O0OO00DO0OO0O0O0O0D0OO0DOOOOO0OOOOOO
gobooo

1 1
mleic — §||C||25ij]vjui) (4.16)

2
() = (" e tog e+ 1

UO000Oc=v—-—uggn
hfp=fA0000000000 O DOODOODODOOOD ¢g000D00DODOO

Cy(f)(w)+f1(w i e’ Y /dV&w V+o(V—uvy)) Zhl v;) (4.17)

1)- se0(a

OO0 Yo BROULDOOOOOOLDOOOOOOODOOOOOOODOUOOO

0 (4.17) 0 (4.16)DDDD mMOODOO0DO0DD0O0O00OOOo0ObOO0o0ooooooDo2000

000000 Vleg*OOOOOOODOODODDOODODOOoODDbOoOoboobouoboooo
gd

googdg

= e — 5lel5,]
gobodooooouoobbobbboodooooooobbbbobobooogg
guoodooooooooobbon
1=n? /dVexpzk Z — 1))
i=1

0000000 v,i=(2,---,n) 0000000000 O0O0DODOO 417)ODO0000ODOO
guooooooobooobd

18



d

. . 1

=y /dVdC15(w—V+0(V—C1))n—d/dke—T (DI /2 k(N =€) [ (1) e ey ey gy
-c0(d) (2m) T

412000000000000000000000000000000 ¢,¢, 0000
gobboogobboobbooogobbuooon

l=p—e
P

v

1l—p—e?

#

o0ooodoooooooooos0oooooooooooa
0(4.12)00000000000000Chapman-Enskog0 002000000000

gooboogo

v =2

Dip=DAp
ﬂlpui = DApUl - Vjﬂ-ij
1 3 1 3 3
Dilgpllull” + 5pT7] = DAL pllull® + 5pT"] = Viusmi; + SVAVT"

O000ANO0O0OD0O000DO0000DOO00oDbOOooDbOo0ooooooooooooon
0o
11 >
Ty = pT’ [§+_](Viuj+vjui__5ijvkuk)

0% 3
O0000000000000000000 DApOOODODOOODOOOOO V;pDV;logp
O00o0o0o0000oooooboboboooooonbol w=u—DVlegpOOoOoOd
doooooooooooooooooooooo

0
ap + Viwip =0

O000000000000000000 (p,w,T*)0000000O0OOOOOOODOO
gbobouooobboodobbbooobobbooobbooobobboooboboboo

0
&p + Viwip=0

a 1 * 1 !
awi + U]]'iji + ;vaT = _;Vjﬂ-ij

0 2

2 2D 1 . 2,
ot —W;jviw]‘ﬂ'i]‘—?Viw]‘iji—F;Vi(Dp—l—)\)viT —gT Alogp

3p

19



gbobboodgobobbooobboboogobobuooobobboooon

v

000 Navier-Stokes OO D OO OO0O0O0OOO
0000000000000 #=n+Dp0000000 ny=ns+2Dp/30000
O0000O NewtonOOODOOOOODOOODODODODOOOODODOOODODOOODOOOOO
J00D00o0o0ooboboooooooboooo ng=0000000000O
0(4.18)00000000000000000O

14+p—e€?
2(e=r = (1-p))
—eP
2e = (1—p))
0000000000000 0000000ns=2Dp/30000

m = pD + pT*

1y = pD + pT”

20



1 50

oy

goboboggbobboobboooobbooobobbooobobboooboboa
gbobobuooooobbuoooobbobboooooooo

5.1 OUOOOOoOOO

gbuogobogbooobubodbuooobuoobbooouoboboobbod
goooboobbobbobbbbbotdtbddduodooooouooooooon
(non-slip) 0000 OO0O0O0OOOOOOO

gbuogbboobodgbboobuobbbuooboooboobbooobobbod
gbobbuoogodgobobod

(UM Uy) — (—Um, _Uy)

gbobbuooogbbbuoooobbboooon

>/

gsl:000g0aooo

21



5.2 OOOOOO

gbuogbobogobbuogbbodgbuoobbbbobboobbuooboobad
gobobboooooobbbuuogobooubobboog s2bduugdxugd
gbouogobodgbodbboobuogbogbboobboobboobooooban

Lgopoooo
r+L (z<0)

r=q3x—L (z>1L)
T else
O000000o0oUooooouoooouoouoooooo-

*
.
.®
.

.
.
.
.
.
.
*
.

g s2. 000000

5.3 UQOUOOooon

gbuogbboobodgbboobuoooobuoobboooboooboobban
OO00000000000 Cesine00O0DOO0OOOOODOOODOODOOODOMaxwell
000000000000000000000000000000000000 cos b, (6,
0000000000000 (o000 0)0boo000D0ooooOoooooooo
gobooo

22



Or

N

0 53: Cosine DO DOO0O0ODOODOODOODOO

200 0goooougoooon

00000000000000000000000 f(e) O0OMaxwellDOOOOO?2

gbobbuoogobboboooooo

ch

fo(e)de = —cexp(— )

00 c~e+de000000000000O00O0O00O00O00O0O0O nOO000OOnf.(c)de
000000 dADOOO0 OO0 dpO00D000dt000O00DOOO0ODODOODOOOO

tbp]

\dA

0 54: 000

O0 c~ce+ded dO0DO0ODOO0OOOODOOOOO0OOOOODOOO dAcdtcost
OO000bOooooooo d@bboo %DDDDDDDDDDDDDD

23



tbp]

c dt cosd

0 5.5: 00

n(dAcdt cos 6) d—efc(c) de
2m
O000000oo0obO0oonog ¢ 0000000000 e~c+de0OODOO0O
df
— 1
nccosGQch(c)dc (5.1)

gooo

— 1 [27kT
/ cfe(c)de = =
0
O00oo0ooooooooooo

/E /wnCCOSHﬁfC(C)dc = /5 ncos@dg/ cfe(c) (5.2)
-z Jo 2 z
- %[sinﬁﬁgc_ (5.3)
= (5.4)

m
0000 43)0 ® 0000000

m

fo(c)de = 27rchcosﬁfc(c)d9dc (5.5)
m 3 m
= \/—Q_W(k_T)gc eXp(_Qk—TC )COS Adldc (56)

gogooooobobodooubbbooooouoob n=1000000000
EI'—=T 0000

gbobd zyUobobuoodbbybuogobboogbbouoggbooogbgo
Oooob cO0OD00O 00O0O0ODO

cdedf = dxdy

24



y = ccosf

r =csinf
=2 +y
doodoooogod
1 2 y2
c)dec = exp(— dzd
googg
0 1‘2 T
i 5
/_ooeXp( o7 g
2
o Yy
_ZN=T
| yexp(—)
dodoogogoogn
() = —— exp(~ )
x) = exp(——
g 27T P 2T
1 y2
hy) = — _J
() = Fyexp(=57)
googg
1 2?21 y?
de = — ——) = —Z\dxd
fo(e)de \/Wexp( 2T) Tyexp( 2T) xdy
= g(z) - h(y)dzdy
gogg
oot uonooouobdga
/ exp(—az?)dr = i
—00 a
X ort1 2 n!
/Ox exp(—ax )da::w (n >0)

/oo 22 exp(—az?)di = 1.3-5...(2n—1)\/§ (n>1)

—00 2nqn

OO0 Cosine0O000O0O0DO0O0ODOOO0ODOODOOODOOOODO TOOODODOOODO

gbbobuoooobbbo0000

25



gbobogobobobtb«dooo

P) = o expl- )

gboboggoobooooboo
gbuogbboobodgbbboobboobuoobboooboobbboobbod
gboboobdaog
gbouogobodbbbuogboobodbbouobobodbbooboobbuooon
gooooobbobbbboboobbboboooooduuuuooooooooon
gbobbuoooobbbooobbbbooobbboaan

54 U0OOOOOOOONO

000000000000000000000000000000000000000
00000001000000000000000000000000000000
000000000 y=L(L >0000t=¢ 00000000 (z,y)0000
(csy,) 00000000000 000 (¢,¢)0t=1+100000000 (z1,3) (O
O0,m<I[)0000000000000000001000000000000000

T1 =X+ Cy

y1:y0+cy
oood
t=toU0t=¢t,+1000000O000O000O0000OO000O000O00O00000
ogooooooooooobooooooono

L —
y1:L+C;<1— - yo)
Y

—L
x :x0+cxy07+c;,<1—

Cy

L‘?Jo)

Cy
DDDDDDDD%%Q—%%DDDDDDDDDDDDDDDDDDDDDDDDD
ggogoooooogono

26



¢’ (2- L—Cﬁ)

(Xo,Ye)

Us6:0000bbobbouoooobuoaon

5.5 UQOUOOooon

gbhuogobodbogogbobbogboobboobbooboooobobad
gbooobobuogbbbooobbobuoobboobobuoobobuoobboobobon
gbogbobodbbouobooobuoobboobuooobuobooboboobbon
gboogobodbobgobobbodgbuoobbuodobooobuoobooooboban
0000000000000 00000000oO0o0oooO (0O [7pHoooooooo
gbboobodbbogboooboobbuooooboooboobuoobboobbon
goboogobbboogobbogobboooobboooobbooooboog
gboogobodbbgobobogbuoobbooboooobboooboobban
gboogbobuodgbbodbbbuodobbudgbboobuoooouoboboobobon
gbobbuoogobbbooobbbbuooobbboooobbboodgbbobo

27



O

o.7- U uunbbogg

goooboon

oooo v

goooboooood

oo

o0 v
gooooooobod

'

ggoobogn

______ LS.

:DDDDDDDDDDDDD'
_______ !

goooooooogo

'

0 5.8 00

oooooo

'

ggbbooodobbobuooogn

28




5.6 LU0OOO

gobobobbobboobobbobbobboboouotbouououuuooooooooooooon
god

gopoboboboboobobbbbouod oo oooooobDn 2n4+10
gbobouogobbboogobbooobobboooobbooobbooooboboo
gouogobodgbuodbboobuooboobbooobobobbooboooobon
gobogobuogoboobboobouobuogooboooboobobuooooboon
gbogbobodbbobbuoobbooobbooobbogbooboboobobon
gbobboogobbooon

U 59 n=200000000

gobgoobobobbbbbobbbbbuoduddoooouooooooooon
gooobbbobbbbbobbbbbbbbbbbodbooobbooobobobon
goo

5.7 OUOOLODOOO

gbuogobodbbougbobogbboobobodbboobooboobbon
gooobbobbbbbbbbbbbdutddddooiooooooooooooon
gboobogoobobobooboboobobuoobboobbuogbobbooboon
gobbobobbuoouogoooboboobooggogsiobboobboooooon
gbobbougobboboooobobooobbboooobboooobboooobood
gbogbobodbboboboobbbuoobbodbuooobuooboooobobon
gobooo

29




)
/
)
/

)
/
)
/

0 5.10: DOO0oboooog

5.8 U0OOOOOONO

Maxwell [J [J

OO0000000000b0obO MaxwellDOOOOODOODODODODODOODODO
OO0D00D000 MaxwellOOODOODOOOOOOOOODOODODOO

1 \¢ v?

10 = (57) = (-7
d000000000000000000000000000000000000000
0000000

00000200000000000000000200000000000 d=200
0000000000000 = (u,u) = (000000 6= (0,0) = (VT,VT)O
20000000 p=0000000000000000000

00000000000000000000000 wu,uy 00000

z; = w1+ o1(—2log, ui)%{(l - pZ)% COS 2T U;y1 + psin 27w, } (5.9)
= VT (—2log, u;) cos 2Tt 1 (5.10)
yi = 2+ 09(—2log, u;) sin 27mu, 44 (5.11)

30



VT(=2log, u;) sin 24, (5.12)
guoddoooodz20dddodd »,y; ooy

CosineJ OO0 OO

Cosine0 0000000000000 OODO ¢g(x)000000000000O0O0O h(x)
goobdad

hy) = %wm%—£3

0.14
5T (5.14)
O0000yg(x) 0 100000000000000000OR(y) 0 ODOOOOOOOODOO

(5.13)

gbbbybooooobboooggn

¢(x) 0000000000000000O0000O0000000000KO0O0O0
O wi,ug,---,u 000000000000

%Oh+m+~~+w>—§
Zi; =

L
12k

gobobogogoboood

F2) = = exp(-2)

5.15
: (515
000000 p=0000 ¢o=10000000000000[10]000O0O0OOOO
E>500000000000000000000O0O0O000000O0DOO0

Ty =02+ U

(5.16)
0000000000000 p000 ¢c00000000000000000 Cosine O

D0000000000000 ¢o=/TOOOO0O0O p00000000000000
gboobdao
0000 Ay) 00DDODD0O0O0O0O0O00O0O0 w, 00000

(5.17)
000000000000 h(yy 00000 4 O0OODO0DO00O00O00O0O0O0O0O0OOT O
oooooogoo

31



5.9 UO0OOOOOO

gbuogobodgbobbuoobbodobooobbobbooobuoobboboo
gbobbuogogbbobuoooobobboo

. gggobobooodn pgobbbuogobbbod

2. 000000 0000007000 00LOD0@OoOOD o0 MaxwellDO D OO
gbobobuooggobooogoooon

0000002 0000000 (5.10),0 (5.12) 0000000000000 wuy,u, 00O
goo

v, = VT(—2log, uy)cos 2mu,
v, = VT(—2log, uy)sin2mrus

000000000000 (v,v,) 00000

32



1 6l

oy

6.1 200000000

gbouogobogobuogobbbobbuogbbobuooboobuogboboon
oooooUrvo0q0000b0b00b0b00obob0o0bobooboboboobo
oboooobooboob Logbooboobooobobbobbooboobd
gbooboogn

ooono T=1.5U=0.5

ogbooood

ge6l:00000dgobbuooon

yuoo ywiOd2000000 w, 00000w, 0 yOO04dOo0o0o0dooodo

33



goobdad

oobooodoooobodb « 0 ydboooooodododod

oood

0000000 05700000000000000000000000000000
00000000000000000000 128x1280000

000000000000000000000520000000000000

00000000000 T=1500000000=050000000000000
0000000000000000000005200000000000000000
000000000000

0000000 », 00000 0 (5.15) 00 (5.16) 000000 = VT = V1.5, p =
U=0500000000000 uy,--+,us 00000

1 1
U +ug 4+ us) — 3
verVLSk(l 2 - 5) 2 405
12%5

goboobod »o. 0000000
0000000 o 0000000 (b17)D000OO0OT=1500000000000
v O0O0ggn

Uy = \/—2 x 1.51ogyu

000000 », 0000000

0000 0510000000000000000

0000000000590 00000000000000000000 7T=1.5,00
p=40000

00000000000 9x900000(05.6000)00000000750000
100000 000000000000000000000000000000000000
00000000000 0000000000000

34



000 <«

Present
Analysis =

xdgoo

Ue62:.2000000

ge620 z000000000ODOODODLOOODDLDOODDLDOOOObLbOO0ObO0n
gbobboggboboogbbodse20dbbbbooobobbooobogoboobogo
gbobbuogooboooobbuobbdoogoboboooobobbuoooobood
gbobboodgobood
gbobobuoggbbobooobbbuoobbbuooobbbuoogbbobooooa
gbouogobodgbodbboobbuoobboobuoobobobboobooooban
gbogbobbboobooobuogbboobbobooboouooboobobon
gbogobuogbbodobobuoobbogbbobbooboboboobobbon
gbobogobooogbugbboogbuoobbuoobooobuoobobooboban
gboodgbogbbuooboooboobuodgbbobbboobooboooboon
gbobboboooobbbuoooobbboooobbbooon
gouoggbugbobgoboobbooobboobooboooboobbad
gobobooooggn

35



6.2 2000000000

0j0buoodbuooooboobobuooobbuoobuooobuoooboooboo
gobbougobbobooobbougbbboooobboooobboooobood

oood

gbuogobodgbbooobbodbbooobboobbooboobobbod
256 x 256 00000

oooooo0Tr=140000000000 05 00000000DO0O0OOT =
145, v =050000000000000000O00O0O0O0O0OODLDOOO0OO

oooogoboboboooobobobo rol40booboooooboobg
gobobodg p=40000

3000000 0000000000000 0O0O0OO0O0O 11x11 00000 (O 560
O00)0000000 2800000 3000000000000000000

gboogd T=1.45u=05

-

ooOoood
ooOoood

y

‘ T=1.45
X gooooo

Ue63 2000000000

00000000000000000000 T=15000000000000000
0000000000000 Tpee = 150700000 Ty = 1499000000000
000000007 =15030000000

00000000 Reynolds 000000000 (3.1)0000 T=150300000
p=40000000000000000 »0000000000000000 L =256

36



O0000000000000000U=050000000 (3.2)00 Rex100000
oooboooboobobooboobobuoboobobobOobd Me=030000O
goo

gbuogobodbogobouogboboobobobobuoobboobooooboban
O000000000000000 GHIAODOOO [5]000 Re=10000000000
gooo

0 6.4: Re=100 000000

gbuogobuodboboogbboobobuoogboboobboobbuooboooon
gobobog20bbbgodoboood

OO00000D0OO0OGHIAODOOOODOOOOOOOOOoOOooooDooooooDoooo
gboobodbbbbodbuoobobuoobbooboooboobobbboobbon
gbobogobuogobuoobooobbuoobbuoobboboboobbooboon
gboboboogobood

37



T T e e e T TR

Bt

0.5 [remmemem e
1

0.5

otoogogooog

0 6.5: Re

38



gbouoggbugbobgoboobboobuoobboooboooboobban
U000 ReynoldsDOODOODOOOOODOODODOODODODDODODOODODDOODO
000000000000 (33)000000000 Reynolds 00 Rea4000000

0 6.6: Re=400 DD OO OO

Re=40000002000000000000000O0O0DOODOO0ODOODOO
gbogbobodbboboboobboobbbodobuooobuooooboobbon
gboboboooobbbooobobobbouooon

Re=100000000000100000O0OO0ODO0ODO0OOOODODOODOO
gbbogobbodgbbbooobb20bbuooobbuouogobbodgnobbgan
OoobobobodbUdbRrRe=10000000000000000O00O0DO0OOODOO
gbobogobobogbooobuogbobobboboobogbooobooboban
gbobbuoooobbboodobbbboooon

2000000000 300000 0000000LOOO0OLDLOOODLDOOODLDODOOODOOO

39



gboboggbugugbbogugbboobbooboobuoouobbooboon

gobobogoobbobooon

B T s T TIPS

A

OS5

0.5

0000000000

O 6.7: Re

40



6.3 UOOUOOOOO

gbuodgbboobodgbboobbboobuoobboobooogboobbod
gbobbuooggbbobuooouobobooooboboooobobboooooobooo

oono

oog

0
O T=1.5
0

y
‘ oono
X

geg8 0ougooon

—
U
n
o
_|
I
=
o

Ooon

o0 128x 128000000000

gbobouogobbooodg bosi1gobbbuooogbbboooobbob 0o
00 T=200 7T=10000000(0Cs53000)00000

OoobooobooobO0Tr=150 000000 p=40000

Ooobooobog8sx8boooooboobogoob48co00dndd soo000000
gobobuogogobood

ooooogo

gbbboddxggbbbuoooobbbuogobbboooon

gbobuoggbobbouogbbouoogbbbuoobbbooobbbuooobboo

gbhuoobgoboougbboobooobobobbooboboobooobbon
gbobbuogogbbobuooooboboo

41



000000000000 000000000
Nu = Al(_g%)x*:ody*
D0007*0000000 [0,1]0000000000000*y* 000000 200
ODyODOOO [0,1]000000000000000000000D000000000
0000000000000 000000000000 10000
0000000000000 00000000000000000000000000
0 O Taylor O O
T*(0 + Az*) = T*(0) + Az*T"™(0) + O((Az)?)

oooooodo
T*(0 + Aa*) — T*(0)

T(0) =
(0) Ax*
00000o0o0oo0ooooon 5
1 T*
) oo dy”
/0( 8x*) 0ey
ymax Ay 1

= 3" (T(0) ~ T(Ax))

= A Tnaz — i
doooooooooooooooodo oymez D0y 0000 oooooooon
O00D0D0A:0000D0DOOOO0OODODOOOODODODOOOOODODOODOAyOOO
D000000000000 ymexr 0000000000 DI, 000000000
Oo0ogooooogooog [0,1]DDDDDDDDDDDDDDDDDDDDDD

Oogdooogooogoooo

goo | ooo
Nu [ 1 1.3092

42



U 6.9: 000

43




Temp ==

Analysis —

18

16|

Temp =—>6—

Analysis  =—

14F

12 F

19

xgoo

U 6.10: xggogooo

gboboggbbdgseslobddydbboodobboobbbodbbooitn 20
gooobboboobbbbbbbbobobbobbbbbooboobbbooooog 2.0,
lLobbbuobbuoodbobboobobbuoobbooobbouoobboogoo
godbbdgobbogbooogoboobbuogbbbboooobuoobooboon
gboogobodbobbugbbogbuoobobobobbogbooobooboban
gbobbuooogbbboooobbboooon

gbubobgoboougbbooboooboboboobbuoobboobbod
gbobogodbbogboogobuogbooboobboobooobouoonobodoon
gbooggboobodbbobooobooobuoouooboooboooboon
gbbboogobbbooobbboogbbbbooobbon

geotuduubbobuogboogobbbuoobbobboogon

44



6.4 20000000000000

0bbugbbugboboobobobobboobbboobboobbooboboo
gbogobobgboboboobobboobooboobuogbooboobonbo
00gbogbuogbuogboooboobooboobuoobooboboboobonoo

Ooon

000000 Thpee =20,000000 Tpy =1.00000000 128x 1280000
000000000 8x80000000 480000 500000 000000000000
O000000000000000 T=150 MaxwelJOOOOOOO p=40000
00000000000 ¢g=0.00300000000000000000000000
0000000000000000000 O (3.8)0000000 Re=10000000
00

000000000000000000000000000000000000000
0000000000000 000000000000000000000000000
0000000000000 000000000000000000000000000
0000 Re=16000 0000000

oono

oog

—
I
=
o

‘ oono
X

U 6.11: 20000000000000

45



Joogo

gogbodgbobogbuauobodgbuoobobooboboobdabbobogbo
gobbuogogbbobuogoobobooooboboooobobbooogooboo

gooogoo

oooo v
» [OOO00000000

gogooogooobood

'

gooogoo

'

ugoobogoboooooboogd

|
v

ggbooooobobgd

'

gogbobogooo

'

U o612 J0ddpobogoobbooogn

gbobogobobbouogbbuogobbbuoogbbbooobbbooboboboo
gbogbobodoobugoboboobuobbodobuooobuoooboboobbon
gboboboogobboobbbuoogobood

gbuogbboobogbbboobboobuoobobuooboodgboobbod
gbooogbobbodlbogbbobbooobuoobboobbuoobboobon
gbobogobodbobgobooobgbuoobbuoobooooboooboobobon
gboobogooobogoooboo

46



e







gougodboogbuodgbbobooboobbooboobbooboobbad
gbogbobodggoobbuoogobooa
gbobooodgobbuooobobbuoogogn

googo (gob (oob
1000 1.116 | 1.9036
10000 2.242
16000 3.143

gboboogbodboboboodobbbobuogbuoobboobbuoobbboobobo
gbobodgogbobboobooobuoobboobbobobuooboboobbon
goboboogobboogoobobod
gboogd 128x 1280 0000000000 0OOUO0OOO0O0O0O 8xg8Uubbogn
gbobobbodugbbodobb lexlegboobooboooboooboon
gbobboodgobobboooboboogobobuooobobboogon
Re=1000 00 000000000O0O0O0OO0DO0ODOOODODOOOODOOODOO
gbboogboogbboogbboogbuobbuouoooboooboooboog o
gbogbboobogobuoobobuogoobboobbooobuoooboobobon
gb obuoogobbuooobbboogobobbooobboboooon
00000 [11]0000 Re=1000000000000000000000000O0O
gbobbuooogbbbuoooobbboooon
Oo00oodboooboobuoobbRaObOO0bOOOOODOOODOODOODO
obooobooboboobooboobobbobbobb0b0ORabO0ObDO0ODO
gbogbboobuoogobuoobbouooboboobobboobobuooboboobbon
gbobbuoooobbbooobbobboooon

49



6.5 200000000

gobobobbobboobobbobbobboboouotbouououuuooooooooooooon
googobboogbugbobodbuoobbuoobooobuoobobooboban
gboogobboogbugbobodbuoobbuoobooobuoooobooboban
gbobogobodgbuooobuoooobuoobooobuoobooboboobbon
gbobbuoogobboboooobobboogoooo

godgd

oooobdg r=1000b00bgobo0 r=20000000000000O0
gboboogbobooogboog 26x26 00000000 8x800000O0OO0
goooogssooodogobeooooddbogbbuongobooobboonoogn
gboooggbo g=0002000000000000000000000OO0O0OOO0OO0
gobooo

o000 DU0O0ObLbLUOObLbUOOObLbLbOO0 sx8guuuonoooouono
0 3800000 4000000 000000O0OO0ODOO

gbubbogboogb3ggbbuogbbobobbuoobbuoobbobood
gouogbboobboobuogbggbigoood2o000d0ddbbodbogogobd

0
0
O
0

I_,X 0000 T=20

gelr-gdonooogooon

20



4
e << T r)/' I L ——
P SESEPEPIPEPER A N N e T e AN\
e,w&&\\\} ; /z)»M\\\\ e
k,((__(;&w\\\'\\ //’//v,ra_,)_,ﬂ\\\\ S
BBDIPRREN LN W A Sty N
soonneXNNE R I ¥ M issaaana\ N 112727
T\ 1 17277, NANL L 2 A LA
I SRR a1
SEREN NN ////7\\\\ LY
«~x\\ 1727532V v/
O 177273\ /
VeoosNAN ] 1722323\ 4y
6?/\’\'\? f{i/:tia\ll Y é
1) } {\2 I d
W7t IR NA
VN AT SRR
\ 271 ANRe“ /Y v
V2t AT ) !
3T A2 TUANNNRZL L0 !
NN NN~ L |
NI AR ) i
Nnaet/ TES| AR/ i
Nenees/ VTSR EE RN\ 2 Uy
QT 7N I I N S 2 L VN
NSRS \\\\\\k&e////J v VY
:\_,/r/r/v/’/’/f¥ \\\\\*\“‘—t—ei// /o R
RS AN AN S BB A R AN §
haaaesstd) ENNSSoananst 42 R SN
s A AN NN e o 5 N ::\_)
I NSNS e e e — é \{\\)‘,_ L.
T T ASS PP EPEPEPEE PPN Nt T

0618 0:0=1:100000000000000000

0 6.19: 0:0=1-1000000000000000

2000b0boobooobobooboboboboboboboboboboboon
gbboobouodgbodobuoobgoonog

gbdgboboobouobuoboobodoboboobobboboboobobooboan
gbooobuoobuoobooobooboboobooboobooboobon

ol



- . PRV VR WY ;,,,. AN \\\/
. g e P IDDBDPDBDPIPBSETTN
P S A PSRRI N, g e R\ OPODBEERDBDPBBBRNN N\ 1
P 7Aoo s [ >\ WHBBBDDBIDDIMPISE XK N N N 227 N\ hSSBHBDBBDBPPRTLN N

17 A A o AN PPN S L BAAA A s e —— t LAHSSBRBERTN N N

IRRELES SN LT A SSSeaae PRRRNNN N WP YL E e RARNNN 1 1255550 nnnBRRRRNN L 4

ISR YL ISSatNNNN 3 L issn PSRN N PARA A NSV S I5555aBBBRRRNNN NN

IR EEEISGNNN I R LTSS aaaRBBRERR XS NN PrIAAA SN\ 11 1127 ssenonnt XN
172722523\ v O A B1227 77 RN N 1 22112 sssmnne NN L L S &
1777272250\ N 255500nbBRRRRNN NN 11777727 A A e NN R 225500 uRRN LS

1111722570\ [15550nouutRXNNNS LSS [0 1777 7o e LI 155 R NN

L1177\ G e s R AN ] VLTI 77 227275730300 X255 RN N NN
111727533\ 2550 RRNN LS S 1 1177277772330 T APERNN
12 N 7 5soreRNN L L L PPE7777722700NN L gegrco i
\ eSS { F77753000 ) NN
{7 R diE A
\ \\\f RS AR AN S (W2
TARARRY N2 RR RN AN RARRRRRRCZ N )
RN NNSSTLL a2 720201 LIRS SE L SIS
1ARARRCE L/ VSNNNSTE LS 272 20 ] TX AN AARRRR e T4 7/ ! CNNNDTT a7 1

TANKARZ Y NNNIDTT L A A AR AR, AN ARRARRRS NS e el Y, NNNXTT A r 7]

ANNARR~LA NANNNNSTETL LA A a2 R AARNRRRNRR S e e e ZX 0 ) SIS AT ;

AARRRN e “ L) ARRNANNdeaaeasfl ) 5 5 5 SRR SN n L A2 21 SN 2,

AaN—TIr DN L A A2 2 A E LY AR NSRS AAN LR AANNNNNTETTR LS A

AR R 22 N gl ALY 7 L L LN B A R A

NN ee e 244 RN A AA AP ] AR R DA v \\\:‘,‘W////"//'/ 27

NN s N N N T T L L a2 2 2 A AR s s s e PSSR R R B RN Gaaaaesatssyy Y,
LS eeeenabi 42 R R AR ASadddeaesaaaeseae@ 2557 ) § | | \CERNRVBDBRRSESDDBBBBESSLE A § RN GGGEEESe /)
\\\&K\N—(_«_,_._: 5 f % i ~ ,,,,,/::’ ,2\\\\«.;« o 5 } é é‘::“*w)»////&
et AN LN A,

= redA e AN = e A ey

0 6.20: 0:0=1400000000000000000

0 6.21: 0:0=14000000000000000

gbbooobooodobbuooobbooobobuoobboobbooobbuooon
gbogbgbooudgboobooobgstgbuooboooobu40bboobonon

gbooobuoobooboobobobobobooboobooboobdg
gbbooobooodobbuooobuoobbooobbooobboobbuooon
gboobuodoboobbob ooboobobboobooboobooboobog

gbooobuoobooboobooboobon

52



0 70

HEEEN

gbobodogoobbogoobbuooobboboooobbooooooboog
gbobougobbbgobobbuooooobbbouoobboooobooa
gbuogbobodbuooobuoobbouobbooooboooobbooonon
gbbooogobbdoogan

gbbougobbuogobbuoodgbobboooobbooobboooboboo
gboboogobbbooobbboubooooboooobboboooboog
gbobbuogoobbbooooogbobuoooobobuooobobobbao

gboboogdgboboog20bbbogoobbboooobboooobood
gboboogobbboooobbbuooobobbuooobbbbouooobood
go200000000obbbuouoooobbbbbuouoooooboboo
gbobodogobbbooobbbouooobboooobbooouoobooa
gbobbuogogbboooooobobao

gbgobgbogbogbuodgbooboboobogboob 20000000
OO0O0000bO0o0b0o00bbo0o0ob0o0oboobD0oob0oDb GHIADODODO
gbbouoobbboodoogbobbooobbbuooobbooooboboo
goo

gbboogobbooobbobooobbooobboooobboobboo
goobobooobobboboboboobbbobbtbddddooudououuuuuogo
gboboboggobboogobboboogobobuooobobboooon

1bggbobobogobudbogoboobuogboobouboboobonon

23



gbobodogobbbooobbobbooobobbouooobbobooooooa
gbboogobboogoboogobbuooobbooooboboooooog
gbouoggbboodgbbboobbboodobbouooobbooobobobo
gboboogobbogobbbogobboooobooooooboonobooa
gboboogoobuogobboggoboooobbooobbboooboa
gboboodgobbuodgoboogbbbuooobbouooobboooboboo
gbbouoggbbogobboodgbobbuoobbouooobbooobooo
gobooooggn

e OUUOO0OLDOOOUOLDDLOUOUOLDDLOUbLUOOUODLbLDUOOOUDLDbDDO
gbobougbbobogobboogbbuoogbboooobobooobooa
gbbougobbooobbbuooobbbuoooobboooooobooo
goboogo

goooood

e OUUOUOLODOUOOODLDLDOUOUOLODLOOOLDDLDUOUODLDDLDUOUODLDDO
OO0000000O00b00O00ob00b00Db0obOd ReynoldsUODOOOOO
gbbouodgbbbooobbbuoooobbuooobbbuoo3goboog
gboogobodboobggoogbbbuogbboobuooboooobooonon
goobbbboboobbbbbbtiddddooooooooooboboobooon
gbbodggbboogobbuoodbbbouooobboooobboooboboo
gbobodgobbtbogoobbobbooobobbouooobboooobooa
goboouoogon

e OUUOOLODODULOODLDLDUOUOLODLDLOUOUOLDDLDbLDOUOOUODLDbLUUUObLDbDDO
gboboogbbobogobbuoggobboooobooooobooobooa
gbbogobboodgobbuoodgbbbooobboobobboooboboo
gboboogobobuogoobbooobobboobbobooobbboonoooa
gboboogobobuogoobuoogobboooobbooobbooooooa
gbuogbobodboobbbodbboobbboobuoobooobboonn
gbbouooobbooooobbbooobboboooobbn

o4



appendix

Uooobobooouoobouooot

OO0DO0b0obo0ooobooDobobooooonDg MaxwellDOODOOO

Ty ¢?)dc
0

2kT;
0000 0000000000 POOOODOOOOOO

— 8kTy

/

My

— 3
b = §kTg

0000000000000000000000000000(0oDooooooon)
gooooobooooobuooobbuoooboobLb IZooobobooobbooo
gotbbbooobboodbbooobb oo 1gbbooobbuoo
c~c+de0000000000000D00DOOOOOO0OO nOO0O0O00Onf(c)deO
0000000000000 00D0 dA0D0O0OD0O0dAODODOAMODOODOOODOD
0Od20000 ¢ 0000000000000000O00 e~c+ded daQ20000
O000000000000000000D0 (00 dAdtcos) DODDODODOOOODODOODO
Q000 dQ/4r 0000000000000 0n(dAcdt cos)(dQ/4n) f.(c)de 000 O
0000000000000 0000D000 ¢ 0000000000 ¢~c+deOO
000 necosO(dQY/4n) f.(c)de 0D OO0 D00O dQ = sinfdide, [;° cf.(c)de=c 0000
000000000000000000000000000000000 ne//40000
000000n//40000000000000000O00O00O00O0O0OOOOOOO
gdodoooooobbobbuooooo

fole)de =~ (e

™

exp(— 275%0 c*) cos 0dSddc

95



000000000 e0000000000 FOOODODODOOOOOOO

97TkT0
8my,

Cc =

E =2kT,

26



HRERERE

[1] A.Malevanets, Statistical mechanics of hydrodynamic lattice gases, Thesis for the
degree of Ph.D, Dept. of Chemistry, Univ. of Tronto,1997.

[2] A.Malevanets, R.Kapral, Continuous-velocity lattice-gas model of fluid flow Euro-
phys. Lett. 44(5), pp. 552-558,1998.

3] 000000, 00000000-000000000D0O0-,0000,199.

[4] F.O.Goodman, H.Y.Wachman, Dynamics of Gas-Surface Scattering, ACADEMIC
PRESS,1976.

[5] U.GHIA, K.N.GHIA, and C.T.SHIN, High-Re Solusions for Incompressible Flow
Using the Navier-Stokes Equations and a Multigrid Method, Journal of Computaional
Physics48,387-411(1982).

6) 00 0,000 00,000000-00000,0000000,1992.

(7100 00 0,00000000000030000000, 0000000000
gbobbouooobbbouog,gobobood boodg, 2000.

8| 00 00,00 000,00 000000, 0000,1983.
9l 00 00,0000 [@020], 0000000,1966.
[10) 00 O0,000000,0000000000,0000,1978.

[11] 00 0,00 00, o«FLOWOOOOOOOOOOOOO0O0O0O00000 1997

o7



L] [

gbuogobodbogooogbobuogobuoobbooboooboobbad
gog

28



